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The Law ot_' Cosines

1. The Law of Cosines states _For o triangle w/sibes o b ¢ ave epposite Anq[cg
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A = b +€ - adbc cos&
Solve the triang]e' a=2,b=3,y =60 2
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Solve the triangle: . a=4,b=3,c= 6 2
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3. A motorized sailboat leaves Napfes Florida, bound for Key West, S
150 miles away. Maintaining a constant speed of 15mph, but — 1 N
encountering heavy crosswinds and strong currents, the crew finds, L. ) TO‘(’A\ “Fr P \e.« \H«
after 4 hours, that the sax}boat is off course by 20°. o IS now 6044 (a
A. How far is the sailboat from Key West at this time?
B. Through what angle should the sailboat turn to correct its course? = /__5_ (a M
C. How much time has been added t the trip because of this? — _
(Assume that the speed remains at 15mph.) | * extra b mileq
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4. A radio tower 500 feet high is located on the side of a hlll %vnh a Lot
inclination to the horizontal of 5°. How long should two guy wires
be if they are to connect to the top of the tower and be secured at two
points 100 feet directly above and below the base of the tower?
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